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	When an electron gains sufficient energy, it jumps (raises) to valence band from conduction band:
________________
	A.
	True


	B.
	False
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	Which of the following have lowest mass:
________________
	A.
	Proton


	B.
	Neutron


	C.
	Electron


	D.
	Nucleus
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	In an atom, Nucleus Consists of:
________________
	A.
	Both Protons and Neutrons 


	B.
	Only Neutrons 


	C.
	Only Protons 


	D.
	Both Neutrons and Electrons 
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	The atomic mass number is equal to the total number of __ in nucleus
________________
	A.
	Both Protons and Neutrons 


	B.
	Neutrons 


	C.
	Protons
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	In conductors, valence band and conduction band both overlap with each other:
________________
	A.
	True


	B.
	False
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	When an electrical field is applied, electrons moves to positive terminal of battery and holes moves to negative terminal of the battery:
________________
	A.
	True


	B.
	False
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	If an atom gains electron, it becomes:________________
	A.
	Positive Molecule 


	B.
	Negative ion 


	C.
	Neutral 


	D.
	Positive ion 
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	For conduction pair of electrons should exist on the outermost orbits of an atom:
________________
	A.
	True


	B.
	False
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	Which of the following bands will be at higher energy levels:
________________
	A.
	Valence Band 


	B.
	Conduction Band 
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	In which of the following materials have larger energy gap between conducting band and valence band:
________________
	A.
	Semi-conductors 


	B.
	All materials have same energy band 


	C.
	Insulators 


	D.
	Conductors 
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